
ITEM NO.SFM1159



LB 600LBS

G

Legs

F 2

Seat FrameLeft arm

Seat Cushion Back  Cushion

M6*20

16

M8*65

16

Right arm Backrest

4

4

M6Flat washer

16

M6*20

1

M8*65

1 6

Adjust the legFlat washer

1

5

M8



M6*20

17

M8*65

17 4

M6Flat washer

17 5

M8

6

Adjust the leg

G

Legs

F 2

Seat Frame Seat Cushion Back  Cushion

4

Left armRight arm Backrest

BOX(A)

BOX(B)

STEP-1 STEP-2



STEP-3

C

F

F

First turn the cushions C over,

Then take out the throw pillows F.

3
2 5

X6

STEP-4

M8*65

6 5

M8Flat washer

6

C

D



STEP-5

M8*65

5

Flat washer

5

5

2
3

C

B

5

M8

STEP-6

M8*65

5 5

M8Flat washer

5

5



M6*20

16 4

M6

4

1

G

X4

STEP-7 STEP-8

C

E



6

STEP-10STEP-9

FF


